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and adhere to the word limit as practicable. 

(a) Define Pure Public Good. 

Answer any five questions from the following: 

PUBLIC FINANCE 

(b) What do you mean by 'Common Property'? 
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All symbols are of usual significance. 

(c) State the alternative arrangements for financing public expenditure. 

(d) What is meant by 'Merit Good'? 

(f) What is Laffer Curve'? 

(e) If the total tax function is T = tY, where T is the total tax and Y is the income of 
individual and t (0<t<1) is a constant positive-fraction. What would be the 
nature of tax structure? 

(g) What do you mean by optimum taxation? 

(i) What is Regressive tax? 

(h) State the difference between horizontal equity and vertical equity in income tax. 
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3. 

Answer any four questions firom the following: 

(a) Why does the Pareto Optimality condition differ in the presence of public good? 

(b) Explain the alternative rules of equal sacrifice on assumption that all individuals 
have identical and declining nnarginal utility of income. 

(c) What is meant by double taxation of savings? 

(d) Give an idea about 'Balanced Budget Multiplier". 

(e) Explain the 'Ricardian view of government debt'. 

() What do you mean by inter-generation shifting of burden of public? 

(g) What are the main sources of revenue of the Central Government and the State 
Governments in Indian Federal System? 

Answer any two questions from the following: 

(a) Critically explain the 'Ability to Pay' approach to taxation. 

(b) �An indirect tax imposes an excess burden compared to a direct tax of equal 
yield". Do you agree with this view? Give reasons. 

(c) In an income differentiated society work effort will decrease when the 
tax-structure is changed from proportional to progressive tax structure". Is this 
statement true? Answer with argument. 
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(d) Write short notes on the following: 
() Coase theorem 

() - G 

(ii) Dead Weight Loss of Taxation. 
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